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OR

3TrF(fi 6efrf q q{flrr0-q oerF irqr ti$ q cfuirft onEqo oero t
3l-{r 1qE otftildt
Differentiate between atomic orbitals and molecular orbitals as well as

bonding and antibonding molecular orbitals.
qfi e. d-gfrrdififi frg qYs oi rflii qtrd ersrsir

Explain stoichometric point defect and its types.

OR

enFso dq sn qq-flri d ftrn "d-s fuqio" or qd-{ qffm 
I

Describe Band theory lor explaining metallic bond.

srt a frfYqq gq +.frRrqq 6 ftq ft-o,,i ftq rtqsr{it
Explain diagonal relationship between lithium and magnesium.

OR

xe4 +Fr6 d qqtq 6 d frM, {ur q €tq-fl fuMl
Write any two methods of preparation, properties of Xed and write its

structure.
q'T{ s qfuoffi Trrm'qql t? 3nfltfu fs die or qfreTur 6rn ftqt-qrr

sq-srsi I

What are interfering radicals? Explain the test and removal methods for
oxalate and borate.

OR

orril$ ioif,{ d}ffit qq ftp'ot ftffir
Write note on Pseudo halogen compounds.
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INORGANICCHEMISTRY

Oq ' Errs 'cr' i erra oft-aqrfr sr{ t. ftr€- 516 6-E<r elFrcrd t t q-s
'q' { d{ilfr rYl gs qrs q' i Aid srfr sq d r q-s '3r' 6}
w+S {f,d Ed 6l I

Note : Section A', containing 08 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C,
consists oflong-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

Frqiflo-d orfd-d{trfr y{-rT A sin g6 qr q} sr+qt { t r

Answerthe followingvcry short-answer-type questions in one orhvo
scntcnces. (1x08=08)

q$I 1. VII Aq,f d ncii oi q-.dt Et drflq d mq't ftfuil
Write VII A group element according to increasing order ofelectron
affinity.

\y7 z. lAr)3d',4s' qffio frqr,H srd rcr or rrrT crq t?

Write the name olthe element with electronic configuration [1,, ]3ds, 4.rr .

lrn 3 iFr{e fr g of fiolq 3tiNarT Tqr t?
What is the hybridization state of C in graphite?

P.T.O.
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sYi 4. CIT erg ol wtfrft cq tz
Which geometry is present in C.1{ molecule?

cs=T s. F-d-( frrt 6{i t?
Define F-Center.

cs=r 6. srr-irflidtfi €qr g d ftri €q< Bsqr crjqrd rqr tz
What is the limiting radius ratio for co-ordination no. 3?

ssq z ql{ilRftrde 6r vfi vffflur Afuil
Give an example of Pyrosilicate.

q{{ e lTqiBo lT{_d-{ cgftr fu-s'enflq E<T ilg q E}fr t?
Which alkaline eanh metal has maximum complexion tendency?

Section - 'B'

fqqifu-( dg vtrftq rrfr + Brlr 1so-2oo cr< *cr { t
Answer the following short-answer-type questions with word
limit 150-200 (2xs=10)

q{{ 1. 6er6it {ffin ll{i or Ffro Fq qrsr{}t
Explain the order in which thc orbitals are gradually fillcd in by the electrons.

OR

frfti.r d ft-go *vnerom {S-d d crsr{it
Explain Pauling's electronegativity scale.
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OR

CaFrE rir+fl rr:rsrsi I

Explain the structure of CaF, molecule.

\t7 4. Ca2'q Mglen+it d Sffiq ord frMr
Write biological function of Ca2* and Mg2. ions.

OR

3rBn'i-rr dq-d rdtft{ s 3nflfts{ d v+tel .iq !-{rA B. Edt?

Why do noble gases combine to form bond with only fluorine and oxygen?

cr{ s. E+ftq q{ {rBw ft:q"ft ftM t

Write short notes on Fullerene.

OR

ffi{ nfi{ ol ge-+ t 3rfuo firqTYftd Eqi t?
Why is Borazine more reactive than Benzene?

Section - 'C'

FEifu-d Ad B-f,tq s{-r\ A Bdr 3o(F3so sr< ffqr d t
Answer the following long-answer-type questions with word
limit 300-350 (3xs=ls)

,rq 1. g.}Trfr nrMq orri{ of qrfr{} oeTr od rrlTil d ft\ rtcq or
ftqq ftMt
Explain effective nuclear charge and write Slater's Rule for
calculating o .

OR

d-{fr{ r\ qqr erfli E}? sflft1 TUrcI at ftffi \.o frfu oT

afi 661,
What is meant by electron affinity? Describe any one method for its
calculation.

xr{ 2 o2'-3r5 *1 31ftao o&ro 3ntq dtEr} q gdoto Xw fuM t

Draw molecular orbital diagram of O,2 and write masnetic behgv;og,

c{{ 2. BH3B+mq sq-d-Sq t fug lia,frvffi'o, w\?

8I1., is trigonal planar but NH., is pyramidal, why?

OR

6-q$vH-a of qlqsi-f,arr-clgflrHo d sfio i, Eqfz

O-nitrophenol is more volatile thanTr-nitrophenol,why?

w;r a. MgsQqer tt ere go*fto t fo-g rasqwa tt eqewfi-o tr
Tqt?

Why MgSQ is fairly soluble in waterbut BaSOn is insoluble in water.


